Keg
EUAS Practice 2
1a. [2 marks]

Let f(:l:) - wSa:q where T 7é q

Write down the equations of the vertical and horizontal asymptotes of the graph of f. W

X =
1b. [2 marks] % \
2 £ 3 3 -3
; . fi . 3) _ ot — ‘3
The vertical and horizontal asymptotes to the graph of J intersect at the point ol 8 —
(
Find the value ofq.m Z ue?h‘cw{ f
asymptote X=|

1c. [4 marks]

The vertical and horizontal asymptotes to the graph of f intersect at the point Q(1,3), Q=T V2 4 ( b_s J
x -
— Sz =1 + (=2)? - {—/a_i-_ﬁfl :
The pointP(mv Y) lies on the graph of . Show thatPQ - \/(m )"+ (m—l) ‘ = (k-0 ( )
2 3x Sx-tB
2a. [2 marks] (X R ( )
i (x-\)+ (?-/\>

_ 5
Let f(2) = 3z — 2andg(m) ~ 3z,for® #0

Xz 3y-2
Find f—l (il?) XA :

Y= ;S =¢7(x)

2b. [2 marks]
1 5 (¢~ 5 - 5.";2—> = Z/x2\ T
Show that (go - ) (x) = T+2. % (x))= 8‘ 3 3(_”3') Xtel
2c¢. [2 marks]

_ 5
Let h(z) = z+2, for & 2 0. The graph of h has a horizontal asymptote aty =0
let K=0 ho) 555 = = i

Find the Y-intercept of the graph of h. \4
| 5 _5 . —_
2d. [3 marks] \ \,\@:3;;——;—\ = CS(\>
j_ = 5— =4
T

Hence, sketch the graph of h.

5 _ 5--_5
-3 = = T -
2e. [1 mark] _\ _K h(-3)= 7575
-5
=12

For the graph ofh , write down the z- 1ntercept
NEN)

W Lj:/aonl

x=> "



2f. [1 mark]

For the graph of h_l, write down the equation of the vertical asymptote.

x=0
2g. [3 marks]

_1 _
Given that P (a,) = 3, find the value of a.

h= (3,1)
C\)3> since \/\(53:\) lf\-‘(l353 t’\§\“7(()3>
az=\
3a. [1 mark]

Let fle)=p+ 2—q, for & 7 4. The line = 3 is a vertical asymptote to the graph of f
Write down the value of 4. q= 3

3b. [4 marks]

q
The graph dffhasay-intercept at (0, 4), q = P i & 0-3
- q
Find the value of P, =P+ =3
= P 3
1=y
3c. [1 mark]

The graph of fhasa Y-intercept at (0’ 4).

Write down the equation of the horizontal asymptote of the graph of I

Y =°



